MODEL TEST PAPER-2
CLASS-VIII (2024-25)

SOCIAL SCIENCE

i
fime allowed : 3 hours Maximum Marks : 80

p—
General Instructions :

1.

ry

10,

11,

12,

There are 37 questions in all. All questions are compulsory. Question paper
comprises of Sections A, B, C, D, E and F.

Marks are indicated against each question.

Write the question numbers as given in the question paper while answering
a question in your answer book.

Section-A — Questions 1-20 contains very short answer questions (MCQ) of
1 mark each.

Section-B — Questions 21-24 are very short answer type questions. Each
question carries 2 marks. Answer of these questions should not exceed 40

words.
Section-C — Questions 25-29 are short answer type questions. Each question
carries 3 marks. Answer of these questions should not exceed 60 words.

Section-D — Questions 30-33 are long answer type questions. Each question
carries 5 marks. Answer of these questions should not exceed 120 words.

Section-E - Questions 34-36 are Source Based Questions (SBQ). Each

question carries 4 marks each.
Section-F — Question 37 is a map ski
Geography (3 marks) and 37(B) History

total 5 marks.
In addition to this, separate questions have been provided for visually

impaired students in lieu of questions having visual inputs, picture based,
map ete. Such questions are to be attepted by visually impaired candidates
only.
There is no overall choice in the uestion paper. However, internal choice
has been provided in a few questions. Only one of the choices in such

questions must be attempted.

In addition to these, separate instri
question, wherever necessary.

Il based question with two parts 37(A)
(2 marks). This question carries

ctions are given with each section and
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Section-A (@3- )

Resources obtained from the biosphere and that have life are known as
(1)

A Natural resources B Biotic resources

(. Potential resources D. Renewable resources
ﬂaﬁﬁﬁwmﬁﬁﬁﬁﬁﬁqﬁm%,ﬁﬁﬁﬁﬁaﬁﬁﬁmm#
S S €7

A. ViERfa® EHEH B. <faw wamwH

C. genfgd dawH D. EiEwiE  qEEA

and

Which one of the following is a major difference between a developed
(D

a developing country ?
A. Availability of resources
C. Availability of water

D. Availability of advanced technology

ﬁmﬁfﬁﬁaﬁﬂqﬁqmﬁmﬁ@ﬁmaﬁﬁmﬂ?ﬁﬁi‘mﬁﬂam

B. Availability of transport

B. ufEed FamEAl @i SHEl

D. 3= WEifiwt H1 ST

C. w1 i Il
(1)

Choose the correct option a8 answer :
The ideal rainfall required for the crop of cotton 18

A 925 to 75 cm B. 40 to 75 cm
C. 50 to 80 cm D. 60 to 100 cm

Forg F A P
A. 95 @ 75 @l 2

C. 509 80 L 2 D. 60 ¥ 100 T 2
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w0 L Lo R B LB .

In the question given below there are two statements marked as Assertion

(A) and Reason (R). Read the statement and choose the correct option (1)

Assertion (A) : The people of a nation are the real wealth and strength

of a country.

Reason (R) : Population 18 concentrated in those areas which are rich ip

natural resources.

Options :
A. Both A and R are true and R is the correct explanation of A,

B. Both A and R are true and R is not the correct explanation of A.

C. A is correct but R is incorrect.

D. A is incorrect but R 1s correct.

ﬁﬁ&ﬂﬁwﬁﬁﬂmﬁﬁﬂﬁﬁﬁwmiﬁ)uﬁ@iﬁm
{_R;ﬂammrm%lmq@ﬁa;mqﬁﬁmgﬁq_

W{A}:ﬁm&mﬁaaﬁnmﬁmﬁmmaﬁtmﬁﬁ%n

er;:mmﬂﬁﬁaﬁsﬁﬁﬂ?ﬂ%ﬁwﬁﬁmﬂmﬁﬂ
2

fawea

A. aﬁqa:mrmaﬁnwtmﬁuﬂ%aﬂimm}aﬁﬁmwﬁ
wE = B

B. #fas9d (A) @ F@W (R) T @&t & 9o &nw (R) aqfqazmtﬁ*ﬁ ke

TF wmEn A
C. :ﬂﬁﬁﬂ?{{mﬂﬁimwm]m%

D. sfawud (A) TEd € @fET FT0 (R) w3
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5. Which one of the following states has the lowest density of population? (1)

A, Arunachal Pradesh B. Haryana
C. Meghalaya D. Bihar
frfafas ™ 4 ¥ fFg =1 4 weEn wwa g 27
A IEUEA VR B. #famm

C. W™ D. faer

. Identify one pair from the following which is correctly matched : (1)
A. Gandhi Smriti — Gujarat
B. Rashtrapati Bhawan — Kolkata
C. Gateway of India — Mumbai
D

Victoria Terminus — New Delhi

A T Efa — T B. TUgfd wed - e
C. iz § 3w sfem — W% D. fawifen =fifm - =& feeft

7. Study the following statements regarding Gandhi Smriti and identify the
INCORRECT statement/s from the following and choose the correct

option : (1)
1. It has one of the biggest museums on Gandhiji.

2. It has a library with around 6000 books.

3. It has about 6000 original photos of Gandhiji.

4, It is in Mumbai.

Options :

A. 1 and 2 only B. 2 and 4 only

C. 2 and 3 only D. 1,2 and3
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fawew -

A 1 3R 2

C. 2 3 3

In the question given below there are two statements marked as Asserti;
(A) and Reason (R). Read the statement and choose the correct option ]

LI

B. 2 3R 4
D. 1, 2 3 3

Assertion (A) : The British East India company was established as:
trading company but they ended up ruling India.

Reason (R) : The British East India company took advantages of
political instability in India.

Options :

A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true and R is not the correct explanation of
C. A is correct but R is incorrect.

D. A is wrong but R is correct. .
AL

5 fru m W A @ e Ry o E, e d @ g A A

WﬁmlR}ﬁﬁﬁWW%lﬁﬁﬁWﬂmﬂ

#An wE fawew -

afaga (A) : fifen $& dfen @ 5w ofe FEE P

ffm T 9 WA H9 H A% 9RG W oymgs O o o
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W(RJ:WWMM#WﬁmwﬂW
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fawred -

A S (A) 3R FRm ' :
o . (R) 3 @& ¥ au ®rw (R) sfwswed (A) &

i ‘all { | { )

c. #fvFeR (A) 8 ¥ wg wRw (R) Ted R
D. sfawud (A) TEa © @fFT wro (R) @@ #i

Identify the commercial crop shown in the given picture. (1)
A. Cotton B. Tea
C. Pepper D. Opium

A, FIH B. 93
C. = fad D. %M
Alternative Question for Visually Challenged Students

in lieu of Q. No. 9

Identify the commercial crop that was smuggled by British into China.

A. Cotton
C. Pepper
e whenfddr & fQ 9T EE

B. ¥4

D. H®ME

B. Tea
D. Opium
9 & T W Hwftasm WA

3 o o weRd @ ol
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10. Match column 1 with column 2a

nd choose the correct option -

R
Column 2 T
Column 1
" " __—h_-“h"'
y (a) Rani Lakshmi Baj
|
9 (b) Bahadur Shah Zafar []
3. (c) Queen Victoria
-
4. (d) Mangal Pandey
_// |
Options :
A. 1-¢, 2-a, 3-d, 4-b 1-c, 2-d, 3-8, 4-b
C. l'd, 2'{!, 3'3, 4'1} l'b, 2'd1 3'3-1 4-(:
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Fled | F FIEW 2 ¥ wE e #ifwg ol sw % w9 9 @@ oo gfe-

—

e | Flerm 2

| —

(a) T Sesang

(b) aﬂg{mwfgﬁﬂ

(c) Tt Tt

(d) e Wi
A. 1, 2-a, 3-d, 4-b B. 1-¢, 2-d, 3-a, 4-b
C. 1-d, 2-c, 3-a, 4-b D. 1-b, 2-d, 3-a, 4-c
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10.

Alternative Question for Visually Challenged Students
in lieu of Q. No. 10

column 2 correctly and choose the correct Optio
n

Match column 1 with
—
Column 1 (Name of Column 2 (Place they leg the
the Leaders) revolt of 1857 from)
Jhansi i &
1. | Bahadur Shah Zafar 11 (a) ansi
——
2. | Tatyva Tope (b) Awadh
3. | Rani Lakshmi Bai (c) Delhi T
4. | Begum Hazrat Mahal (d) Gwalior )
Options :
A. 1-c, 2-a, 3-d, 4-b B. 1-c, 2-d, 3-a, 4-b
C. 1-a, 2-c, 3-d, 4-b D. 1-b, 2-d, 3-a, 4-c
a‘mﬁauﬂaﬁﬁ#ﬁqmmm%mm'&Ww
Fiem | & ®eW 2 ¥ W faam S
Ffem 1 (F@ F AH) Flem 2 (98 WA & ®
1857 % fage & Aq@ FFH)_
1. | @egt wE S fgdm (a) L]
y . Rl
3. mn AeHTETE (c) foeelt _—
_____—-"",‘I .
fawea
A. 1w 2-a,3-d, 4-b B. 1-c, 2-d, 3-a, 4-b
C. 1-a, 2-c, 3d, 4-b D. 1-b, 2-d, 3-a, 4-c
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12.

Choose the correct option to fill in the blank : (1)

The Sikh leaders in Punjab , and the Scindias of Gwalior
did not join the revolt of 1857.

A.. Peshwas and Marathas of Satara
B. Tipu Sultan of Mysore

C. Nizam of Hyderabad

D. Nawab of Awadh

e ™ WA ¥ fU uE fawe gfe

voE # fawa =, ag e & fatar 1857 % famw
§ wfee =& g
A T & YvEn 3R e B. @ & @Y geaH
C. fem fsuer D. 9@y &F TEd
Match the column. 1 with column 2 correctly and choose the correct option
as answer : (1)
Column 1 Column 2
1. Charter Act 1813 (a) It gave a detailed plan for
separate department of
education.
2. Indian Universities (b) Proposed universal compulsory
Act 1904 and free education for children
between 6-14 years.
3. Wood’s Dispatch 1854 (c) British sanctioned a sum of
one lakh rupees for education
in India.
4, National System of (d) Check the growth of higher
Education ' education in India.
Options :
A. 1, 2-a, 3-d, 4-b B. 1l-, 2-d, 3-a, 4-b
C. 1-a, 2-c, 3-d, 4-b D. 1-b, 2-d, 3-a, 4-c
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____‘-_-""'“-.
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FHeW 1 HIH 2
1. = TER-1813 (a) 3o foen @ few swem
Wﬁwmﬁ]
2. gfewn gfEfEES [b)ﬁ‘{il:iil'ﬂf?}?aﬁﬁ'ﬁ?_f;;-h
TR 1904 gesdfr, @fEd SR frges

foren &1 FEEI

3. e fed= 1854

© st 3 e foa F

TH O@ T W U@ WEipd #)

4. U<y foen womed

d) 9@ ¥ =9 foen & foom

13.

F T T
fasea
A. 1l-¢, 2-a, 3-d, 4-b 1-¢, 2-d, 3-a, 4-b
C. 1-a, 2-c, 3-d, 4-b D. 1-b, 2-d, 3-a, 4-c

Which one event is described by the given statements ? Choose the correct

option :

(1)

1. The day was observed as day of mourning.

2. Lord Curzon issued an order in July 1905 that annoyed the peuplt‘

of India.

3. The British tried to attack the Hindu-Muslim unity.

Options :
A. Non-cooperation movement

C. Partition of India

B. Quit India Movement

D. Partition of Bengal
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14.

15.

e F fFw owem W ol w2 @ feer g
. W REE F vie fmwm owoww fm o

2. @€ F Y GO 1905 W Gh Ry Wi fEw famd R @ @
TS w fREm

3. oS A feg-ufiem www w owew fan

fawea :
A, EEER e B. 9W@ BIE IMeH
C. 9va =1 fawem D. Imw =1 faumeH

Choose the correct statement which depicts the significance of the
Preamble in the Indian constitution.

A. It contains the aims and objectives of the constitution.

B. It contains the powers of the President of India.

C. It states the objectives of the elections.

D. It states the powers and functions of the Prime Minister.
Efefas § § 39 %99 & 9T S 9 % FEuE w1 wEET % one
H Tl 2

A Tod dfeum % @ R IEE S €

B. zad 9ma & WA vl = €

C. 7 & % IewE F A 21
P———— TS L R L

Which one of the following demands ‘To uphold and protect the
sovereignty, unity and integrity of India’ ? (1)
A. Fundamental rights

B. Fundamental Duties

C. Preamble of the constitution

D. Directive Principles of State Policy

343




16.

17.

frefefan & 4 #i o W s, TR S S F g
F AN w2

A e s B. i =
C. wfawm =t we@EA D: T4 & HAf-fvs fugg

Which one of the following is the guardian of the Fundamental Rigpy;,
A. Supreme Court of India B. Parliament 1

C. State legislature D. Prime Minister

fefefas § ¥ =1 difes afusn &1 TEF 27

A TE=E IEwE B. H4g
C. ™= = faufa= D. wumwHt
Right to education is part of ; (1)

A. Right to Equality
B. Right against exploitation

C. Cultural and educational rights

D. Right to freedom
mmmmﬁmﬁﬂﬁgﬁﬁﬁﬁﬂlmmﬁm%?
A, TOEAE @ wfusn

B. wivm & fawg wfuww

C. wepfas 3R s sfimn
D. @aga &1 fER



18. Choose the legislative powers of the President of India : (1)

19,

1. He makes all the appointments including Prime Minister, Council of
Minister.

2. He can change the death sentence.
3. Money bill is introduced in the Parliament with his prior approval.
4. He can address both the houses of the Parliament.

Options :
A. 1,2and 3 B. 3and 4
C. 2and 3 D. 2, 3and4

e & URufd &t faurEt vfEEl @ o= sisw

. =% uhuieg afed wyeeR @ fafE &

). 9% Gog TS HI IRA HHA e

3. wex d o fadww e @ el @ R R W@ o#
4 e GOT ¥ Tl el #1 Hafud w gha 2

faweq
A 1,2 #R 3 B. 3R 4
c. 93k 3 D 2 33k 4

Choose the name of the procedure by which President of India is removed

from the office. (1)

A. Impeachment B. Vote of ‘No-confidence’

C. Dismissal D. Censure
mﬁﬁwmmﬁﬁﬁmmwﬁm

A, wEHEr B. ufava™ wwdE
C. ug=AM D. fA=1
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20.

21.

22.

23.

The power of the Supreme Court of India to decide disputes between the

centre and states falls under its : (1)
A. Original Jurisdiction B. Advisory Jurisdiction
C. Appellate Jurisdiction D. Supervisory Jurisdiction

% 3R T ¥ 9 faeael W warted =aeEm gw fofg @ frafatas §
9 fred sl smar &)

A, H& @fuER B. wmyl aEfusr
C. ey aEnfusr D. friys efusr

Section-B (@E-@)

‘Literacy rate of any country is an important indicator of socio-economic

development of a nation.’ Support the statement with suitable
examples. (2)

“Mi‘ﬂﬁﬂmﬂmﬂﬂﬁm~ﬁﬁ$mﬁﬂﬁﬂﬁ'{ﬂ
’a%aa;%ﬂ‘mmﬂwmwﬁqﬁml
(OR) ( a19ar)

‘Discriminatory government policies affect population distribution’. Justify
the statement with suitable examples.

"mﬁﬁw%ﬁmﬁﬁmaﬁwﬁﬁmﬁ“mmﬁ
§ ®YT H TE U

Describe the economic condition of the Santhals under the British East
India Company. (2)

mmmﬁ%mﬁaﬁqﬁﬁﬁWMWmﬁﬂﬁm|

Illustrate with the help of two examples that the Indian constitution is
dynamic. (2)

ﬁﬁmﬁaﬁmﬁ@ﬁﬁﬁ?mﬁuqﬁqﬁmﬁ%,
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29.

24.

25.

26.

21,

28.

Expifa.iT:l the response of the government in case any religious group
prohibits the female education on the basis of their religion. (2)

afs ®E wifdE T o wd & omum W oht fenm @ whwfa w @ @
39 foufd § ¥R & g # = #ifsw)

Section-C (@&E-7)

State any three reasons responsible for decline of sex ratio in India. (3)
@ W AT w9 R % feRl @9 @wRen @ fafew

Explain the reasons for the introduction of commercial crops in India by
the British. (3)
Siel U W § afvRems P W 3 % SRU TR R

Illustrate with the help of one example that the British violated the
treaties signed with different kings and Nawabs. (3)

ﬁmﬂaﬁmﬂﬁﬁaﬁﬁaﬁtﬁ#ﬁfmwﬁﬁkmﬁ?m
# T afar w1 S fEE
‘India is .knuwn as federation with the very strong central government.’
Explain with the help of any two constitutional provisions. (1%2x2=3)
“mﬁwaﬁﬂumaﬁﬁﬂ#mﬂwm%r“ﬁﬁﬁﬁmﬁﬁ
yaAyE # weEm@ € TR (T

(OR) (37r9ar)
Explain any three features of Parliamentary form of government.

@ﬁqmaﬁﬁaﬁfﬁ#ﬁmmﬁaﬁwaﬁmn

nees under which the President’s rule can be

Explain the circumsta
(1%4x2=3)

imposed in a state.

fFar w1 Gl B
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30.

31.

32.

33.

Section-D (TE-9)

Explain any five uses of land resources. ©)
q-wEnE & FE g ww we #if
(OR) (>9gar)

Explain any three advantages and two disadvantages of multi-purpose
river valley projects.

a@'ﬁ?ﬂﬂﬂﬁmﬁwﬁﬂﬁmﬁﬂiaﬂéfﬁ?mﬂaﬁtﬁmﬁﬁmml

Explain any five differences between subsistence agriculture and
commercial agriculture. (5)

frafe #fa ok s =t & = w=¢ o= am T *iET
(OR) (a19ar)

Explain any five differences between agricultural practices in developed
and developing countries.

fowfaa iR fawmie 29 F yafas = gofal & &9 @€ o9 o w=

EAE L

Explain any five features of Government of India Act 1935. (5)

Yia R fufEm 1935 & R ue favwaed %1 =mem st
(OR) (ar9ar)

Explain five reasons that led to the partition of India.

9 F1 fAuEE #1 AR @ W a9 #E g sRom we wifw

Explain the ‘Collegium system’. Explain any three qualifications required
to be a judge of the Supreme Court of India. (2+3=5)

‘Fifafaan faea’ 1 =ren FifE ) geEe e w1 oAt a1 fau
wrEavas fEel o drgae S TR s

(OR) ( 319ar)

Name any four subordinate courts working in India. Explain any one

function of the High Court.

qrg # w1 w ® fERl dF iy el o 9w fafan qw 3= =maem
F FE TH HE TE DU
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34.

34.1
34.2

34.3

Section-E (@T-¥)

Read the source given below and answer the questions that follow:

There is an urgent need to maintain a balance between population,
resource planning and conservation. Resources should be used judiciously
otherwise mankind will have to face dire consequences. Over the last few
decades, there has been a tremendous increase in the concern for
conservation andemanagement of resources as they are rapidly depleting
and needs to be conserved. We must realise that the nature and its
resources are not merely ours. They also belong to the future generation.
Thus, it is necessary to use the resources more efficiently and reduced

wastage.

Explain the term conservation. (1)
What main problem is faced due to the over-utlisation of the
resources? (1)

Explain any two reasons for the need of resource planning. (2)
9 fu M S W W R frEfatEs W % I -

e, GEA diSEl g | o §i" Hged a9 @ H qehl AEeashdl
¥ w1 e SwE R S Afen sen WAE S 1 R SR
T 2 fiod o qwel § e % S SR W § 9EEE 116
W43 gaE % wwm el war Ft faa @ € w3 ot ¥ W
% ¥ iR 7 wiEa PO F gew # e wwe wfee & v S
WO dee AR fem W@ §; 4 wEh @ F b #osm: wwE wEm S
F FUE ¥ wCn WfEy R ;e K FH FHN AU

41 wem g e osmEn w5t
34.2 Wﬁﬁmmﬁmmmmmmﬁm%?

34.3 WA fEeE 81 saEvdEd % #E % HRe We S
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35.

35.1

35.2

35.3

Read the source given below and answer the questions that follow:

During the nineteenth century, a social transformation began in India
and kindled the spirit of nationalism. Close contact with western science,
literature and thought changed the mindset of the masses. In the
beginning, only the elite classes were campaigning against discrimination
of the so-called low castes. But later, the lower castes themselves rose
against social injustice and evils in the Indian society. Many socio-religious
reform movements spread in different parts of India. Kerala had suffered
at the hands of a very rigid and oppressive caste system. The social and
economic status of a person was determined by his position in the caste
hierarchy in Kerala. In the princely states of Kochi and Travancore, the
governmental positions were denied to lower castes and the non-Hindus.

Which reason was responsible for the introduction of social reforms in
Kerala ? (1)

Suggest any one change/reform that you would like to see/make in your
society. (1)

Highlight any two reasons that changed the mindset of the Indians
towards the social evils in the society in the nineteenth century. (2)

= Ry T o #w W® ek frefdfen v % s AR

T T F W, @ gt e g gen feed swd sk i
S U LTI LI U T L S T e —
q ARA A wad Fo o1 § TR T R oF quqelm fraeh sl & Seve
& faoms #fFF aw A feeh sl @ wwiv sem sk e & e
ma@g‘éﬁlwﬁ?ﬁﬁﬁwﬁﬁmmﬁm—mgﬂnm

eI LG R U —

@ TR S0 e q A el w1 amfaw we anfds fafy ffi w9
Tt ol Hifed T AARR F farwdl d freel wfE st eaw )
w § dfgq w1 @ S
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35.1

gafaF GYR &1 EeE & fow W W s Fw A IwEed a9

g2 PR T IR GERC s s mwe H w A
3 e WOW W A s il & owfe el # e wwe A

36.

W fFE IR W oy s

Read the source given below and answer the questions that follow:

The long struggle for freedom transformed into a mass movement and
ultimately succeeded in ushering freedom and self-rule. It was a dream
come true for the people of India who aspired for a democratic self-
government. So, the constitution of India laid down the princple of
Universal Adult Franchise according to which all citizens who are 18 or
more than 18 years of age have the right to vote.

361 What was considered as a dream come true for the people of India ? (1)

36.2 Highlight one advantage of Universal Adult Franchise. (1)

36.3 State any two differences between Lok Sabha and Rajya Sabha. (2)

9 far U @ @ W e frefatad g % I i

m#mwﬁwﬁﬁﬁmﬂaﬁﬂaawaﬂtm:m
mmﬂmmﬁmaﬂ%ﬁmmmﬁﬁwmmaﬁw%
i 3 v <@ i e 3 PR fem S T e
fﬂmm?ﬁa@m‘ﬂﬁlsaﬁmmaﬂﬂmMﬂ?ﬁmﬁaﬂaﬁm

TER T AFR 8

35.1%&%#%‘&?mmﬁﬁﬁﬁmmﬂmm?

mﬁﬁmﬁmqmmgﬁm

S, R N L e e o oo M phg o R IR e ———



section-F (@E-9)

con marked on the given outline i
d write their correct names on thg |, of
I

By

37. (A) Two places A and B have b
the world. Identify them an

marked in the map :

A. Region of low rainfall "
B. Major tea producing area 0’
On the same political outline map of the world locate and labe| y, '
following :

C. One high rainfall area in South America O

W#ﬁqmnﬁﬁmmnﬁﬁﬁmﬁamAﬁnﬂmm%%
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C. zfgw smis &1 F9 I aen &

Alternative Ques_itiun for Vis;lally Challenged Students
in lieu of Q. No. 37 (A)

37.1 Which region of Africa receives low rainfall ?

37.2 Name one major tea producing area in North Asia.
37.3 Name high rainfall area in South America
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" On the outli it
e (B) outline political map of India locate and label the following:
(A) The place associated with Gaddis (1
; )

[denti '
fy and write the correct name on the line drawn near them :

(B) Indian National Congress session where the Congress split into
moderates and radicals in 1907. (1)
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Question for Visually Challenged Students
in lieu of Q. No. 37 (B)

Alternative

A Name the place associated with Gaddis.

B Name the place where Indian National Congress session of 1907 was

held.
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